‘Frederick roared with laughter and swung Nick up on
his shoulder and ran with him along the railway line
as if he weighed nothing’.

What can you infer about Frederick from this quote?
I can infer that Frederick is because...



Frederick ‘took a packet of cigarettes from his jacket
that was hanging on the tailgate and stood, sullenly
smoking.’

What can you infer about Frederick from this quote?
I can infer that Frederick is because...



He was ‘a broad, beefy soldier with a very big
bottom....Mr Evans said “"Do him some good to get off
his backside for once!™

What can you infer about Frederick from this quote?
I can infer that Frederick is because...



